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1 Plum G.C 4| ZHALL HhDA 37.500
2 Plum G.C 5 BEHTE HLY 36.750
3 Plum G.C 6 S<hh HZ 36.350
4l EKIZDa=7 | 4| DOFLE MAT 36.200
5 Plum G.C 5 [ Azl HEL 35.100
5 Plum G.C 5| F£2H& HMY 35.100
7] EKIZPaz=7 | 5| WIIZ LA 34.200
8| HAEKEHE 5 =5 & 33.200
8] =IZPaz=7 | 4 ZzhHh PghH 33.200
10] EKIZoa=7 | 4 (Tf=7am U 33.000
Kigsis #EHE 5l
k5
1 Plum G.C 4| ZHALL HhDA 9.600
2 Plum G.C 6 Shmhn #Z 9.300
3 Plum G.C 5 BEHTE HLY 9.200
4l EKIZDa=7 | 4| DOFLE NAT 9.100
5 Plum G.C 5| F£2H& HMY 9.000
6 Plum G.C 5| HMIZL HBL 8.900
BB\ E1T4E
1 Plum G.C 5 BHETE HLY 9.350
2| E2KICPaz=7 | 4| »FELE NAT 9.300
3 Plum G.C 6 AhHhh HZ 9.200
4 Plum G.C 4| ZHAhLL HhDA 9.000
5| FXIZPa=7 | 5| WIIZ LwA 8.400
6] HAEKEHE 5 =5 & 8.300
EE
1 Plum G.C 4| ZHALL HhDA 9.500
2 Plum G.C 5| F£2H& HMY 9.000
3 Plum G.C 5 | HMIZL HBL 8.900
4 Plum G.C 6 Slhh HZ 8.800
5 Plum G.C 5 BHETE HLY 8.700
6] =KIZPa=7 | 4| »FELE NAT 8.600
kP H
1 Plum G.C 5 BEHTE HLY 9.500
2 Plum G.C 4 | ZHALL DA 9.400
3| EKIZPa=7 | 4| »FELHLE NAT 9.200
4] FKIZPa=7 [ 5| WFIZ LA 9.100
5 Plum G.C 6 Shh HZ 9.050
6 Plum G.C 5 [ Azl HEL 9.000
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